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Which among the following is an
example of non-motile coenobial
algae ?

(1) Volvox

(2) Eudorina

(3) Hydrodictyon

(4) Tetraspora

(5) Question not attempted

Which of the following is a fresh
water algae ?

(1) Porphyra

(2) Batrachospermum

(3) Chondrus

(4) Gracilaria

(5) Question not attempted

Select the incorrect pair of algal
product and their source.

(1) Agar-agar — Gigartina
(2) Alginicacid - Laminaria
(3) Carrageenan — Cladonia

(4) Iodine — Fucus

(5) Question not attempted

Match Column-I with Column-II
and select the correct answer using

the codes given below :
Column-I Column-II
A. Phaeophyta (i) Batracho-
spermum
B. Chrysophyta (i1) Ochromonas
C. Xanthophyta (ii1) Cephaleuros
D. Rhodophyta (iv) Sargassum
E. Chlorophyta (v) Vaucheria

Codes:
A B € B E
(1 @ Gv) G) (v (i)
(2) () @ (v @) Gv)
3 Gv) @) (v @ (i)
(4) () Gv) @ @G ()
(5) Question not attempted
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In which among the following class
of algae motile cells are absent ?

(1)
(2)
(3)
(4)
(5)

Chlorophyceae
Phaeophyceae
Rhodophyceae
Bacillariophyceae
Question not attempted

In Ectocarpus, gametes are formed :

(1)
(2)

(3)
(4)

(5)

In unilocular sporangia,
developed on sporophytic plant.
In  unilocular gametangia,
developed on gametophytic
plant.

In plurilocular sporangia,
developed on sporophytic plant.
In plurilocular gametangia,
developed on gametophytic
plant.

Question not attempted

Which of the following statements
is not correct fnr carposporophyte of

(1)

(2)
(3)
(4)

()

oni
It 1s develuped by mitotic
division of zygote.

It is diploid in nature.

It bears haploid carpospores .
It is dependent upon female
gametophyte.

Question not attempted

In the aquatic species of Vaucheria

the Zoospores are :

E L 1)
3
(4)

(5)

multiflagellate and uninucleate
structures in which central
vacuole is present.

multifla te and
multinucleate structures in
which central vacuole is present.

Uniflagellate uninucleate
structures in which central
vacuole is absent,

Multiflagellate and uninucleate

structures in which central
vacuole is absent.
Question not attempted
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11,

12.

13.

assist in

the lichen

The structures that
nitrogen uptake by
thallus are called

(1) Nodule (2) Pyenidia

(3) Cephalodia (4) Basidia
(5) Question not attempted

The characteristic
kingdom fungi is :
(1) mitochondria with tubular cristae
mitochondria with globular cristae
mitochondria with angular cristae
mitochondria with flattened cristae
Question not attempted

feature of

(5)
The first eukaryotic organism whose
genome was sequenced is :

(1) eurospora crassa

(2) Drosophila melanogaster

(3) Saccharomvces cerevisiae

(4) Arabidopsis thaliana

(5) Question not attempted
Lichens are bioindicators of :

(1) Water pollution

(2) Air pollution

(3) Soil pollution

(4) Noise pollution

(5) Question not attempted

In rust fungi, how many tyvpes of
spores are produced on the primary
host by the dikaryotic mycelium ?

(1) 2 (2) 3

(3) 4 (4) 5

(5) Question not attempted

Which of the following lacks sexual
reproduction ?

(1) Chlamvdomonas

(2) Nostoc

(3) Vaucheria
(4) Oedogonium
(5) Question not attempted
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15.

16.

17.

18,

19.

Heterothallism in fung is concerned

with

(1) Varied modes of nutrition

(2) Morphological diversity

(3) Range of host

(4) Sexual compatibility

(6) Question not attempted

Consider the Assertion (A) and

Reason (R) and choose the correct

answer using the codes given below :

Assertion (A) : The hyphae of the

Hartigs net do not form haustoria.

Reason (R) : The endotrophic

mycorrhizae form arbuscules and

vesicles in the root cortex.

Codes :

(1) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).

Both (&4} and (R) are correct

but (R) is not the correct
explanation for (A).

(3) (A) is correct but (R) is incorrect.

54} (A) is incorrect but (R) is correct.

5) Question not attempted

Fruiting bodies of protostelid slime

molds are called :

(1) Sporocarp

(2) Acervulus

(3) Apothecuim

(4) Morels

(6) Question not attempted

A potent carcinogen aflatoxin is
produced by

(1) Neurospora crassa

(2) Claviceps purpurea

(8) Penicilium notatum

(4) Aspergillus flavus

(5) Question not attempted

Fairy rings are formed by which
fungus ?

(1) Agaricus (2) Amanita

(3) Mucor (4) Peziza

(6) Question not attempted

(2)
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22.

Abundant deposits of phlobaphene
are present in which region of

Psilotum rhizome ?

(1) Outer Cortex

(2) Middle Cortex

(3) Inner Cortex

(4) Endodermis

(5) Question not attempted
Rhizophore of inella is an

organ “Sui-generis” was stated by
whom ?

(1) Van-Tiegham & Harvey
(2) Bruchman & Worsdell
(3) Bower & Goebal

(4) Harvey & Gibson

(5) Question not attempted
Select the incorrect statement.

(1) Heterospory is present in both
pteridophytes and gymnosperms.
Gametophytic generation is
dependent upon sporophytic
generation in pteridophytes

and gymnosperms.
Companion cells and vessels are

absent in pteridophytes and all
gymnosperms,

Ciliated sperms are present in
the cycads and pteridophytes.

(6) Question not attempted

(2)

(3)

(4)

A Whmh of the following order of

under

P]:;'mnosperm is  placed
vllospermae ?
(1)

Ginkgoales
(2) Gnetales
(3) Cycadales
(4) Pteridospermales
(5) Question not attempted
Which of the following Gymnosperm
18 a parasite 7
(1) Zamia pygmaea
(2) Gnetum trinerve
(3) Taxus baccata
(4) Cycas pectinata
(5) Question not attempted
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28.

29,

Lagenostoma lomaxi is a :

(1) Leaf genera

(2) Stem genera

(3) Seed genera

(4) Root genera

(6) Question not attempted
The pro-embryo of Pinus is :
(1) 4 celled structure

(2) 8 celled structure

(3) 16 celled structure

(4) 32 celled structure

(6) Question not attempted
Resin obtained from Abies balsamea
is known as :

(1) Amber

(2) Canada balsam

(3) Copal

(4) Rosin

(6) Question not attempted

Which of the following statement is

not true for Ephedra ?

(1) Leaves are reduced and bear
parallel venation.

(2) Stomatal development 1is
syndetocheilic.

(3) Two prothallial cells are
present in male gametophyte.

(4) Nodal diaphragm is present.

(5) Question not attempted

Five needles in a foliar spur are

found in which of the following

species of Pinusg ?

(1) P.insularis

(2) P. merkusii

(3) P.montana

(4) P.wallichiana

(5) Question not attempted

In which among the following

gyvmnosperm the archegonium is

absent ?

(1) Pinus

%‘ Gnetum

(4) Ginkgo

(5) Question not attempted
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34.

35.

36.

Which of the following tvpe of fossils
are most suitable for the study of
structural details of fossilized plant
parts ?

(1) Encrustation

(2) Petrifaction

(3) Compressions

(4) Impression

(5) Question not attempted

Name the species of Ephedra found
in Rajasthan ?

(1) E. gerardiana

(2) E.intermedia

(3) E. foliata

(4) E. saxatilis

(6) Question not attempted

Leafy plant body, incubous
arrangement of leaves and clusters
of archegonia are characteristic
features of which Bryophyte ?

(1) Marchantia (2) Pellia

(3) Riccia (4) ﬂlh

(5) Question not attempted

The arrangement of peristome in

Funaria comprises of

(1) 12 teeth in each of the two rows

(2) 8 teeth in one & 12 teeth in
other row

(3) 24 teeth in one row

(4) 16 teeth in each of the 2 rows

(5)

Question not attempted
Late Palaeozoic era is regarded as the
(1) Age of Pteridophytes
(2) Age of Gymnosperms
(3) Age of Bryvophytes

(4) Age of Angiosperms
(6) Question not attempted

In which of the following plant, the
process of fertilization takes place in
pollen tube ? ;

(1)
(3)
(5)

(2) Gnetum
Welwitschia (4) Ephedra
Question not attempted

Pinus
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Which of the following is known as
Maiden-hair fern ?

(1) Pteris

(2) Adiantum

(8) Drvopteris

(4) Polvpodium

(5) Question not attempted

Which of the following species of
pteridophyta is used to stuff pillows
in many parts of the world ?

(1) Nephrolepis magna

(2) Angiopteris erecta

(3) Ceiba pentandra

(4) Marsilea drummondi

(5) Question not attempted

In which of the following
inflorescence, a single stamen
represents the whole male flower ?
(1) Cyathium

(2) Axillary cyme

(3) Solitary axillary

(4) Capitate

(5) Question not attempted

Taxonomic entities of the lowest
rank used in numerical taxonomy
are termed as :

(1) Species

(2) Lines

(3) Individuals

(4) Operational Taxonomic units
(5) Question not attempted

Stem of which of the following
Pteridophyte  shows  secondary
growth ?
(1) Marsilea
(2) Salvinia
(3) Ophioglossum
(4) Botrychium
(5) Question not attempted
o




42,

43.

44.

45.

46,

ATHHT § I-Fe I Tw B
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42,

43.

44.

45.

-

In nomenclature, the suffix for sub
family is :

(1) -—oideae

(2) —ineae

(3) —aceae

(4) —ae

(5) Question not attempted

The androecium in Asclepeadaceae

is represented by

(1) Pollinarium

(2) Massulae

(3) Compound pollen

(4) Translator

(5) Question not attempted

Which among the following is not a

demerit of Bentham and Hooker's

system of classification ?

(1) The placement of gymnosperm
between dicot and monocot.

(2) Closely related families

Liliaceae and Amaryllidaceae
laced in different series. ¢
o

rimitive position
Orchidaceae.
Gymnosperms considered as
separate group from the
anglosperms,
(6) Question not attempted
The condition where the anthers are
united and the filaments are free is
called :
(1) Monoadelphous
(2) Didynamous
(3) Syngenesious
(4) Epipetalous
(6) Question not attempted

The 20t International Botanical
Congress will be held at which of the
following place in July 2024 ?

(1) Rio de Janerio, Brazil

(2) Melbourne, Australia

(3) Madrid, Spain

(4) Berlin, Germany

(5) Question not attempted

(3)
4
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50.
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47.

48,

49.

50.

51.

Naturally universal presence of the
Oenothera type of embryosac is
characteristic feature of which of the
following family ?

(1) Ranunculaceae

(2) Orchidaceae

(3) Trapaceae

(4) Onagraceae

(6) Question not attempted

A graft hybrid is represented by the
symbol

(1) x @ ()

(3 % g +

(6) Question not attempted

The standard size of herbarium
sheet is

(1) 11% x 16% inches

(2) 11 x 16 inches

(3) 10% x 16% inches

(4) 10 x 16 inches

(5) Question not attempted

Which of the following fruit is
developed  from  tricarpellary,
syncarpus and inferior ovary ?

(1) Lomentum

(2) Legume

(3) Pepo

(4) Loculicidal capsule

(5) Question not attempted

Species of Anemone can be
distinguished on the basis of which
of the following palynological

character ?
(1) Pollen size
(2) Pollen shape
(3) Sculpturing of pollen exine
(4) Pollen apertures
(5) Question not attempted
o



52.

53.

54.

55.

56.

Fa g‘rq*&ﬁ ¥ ufige % forg awsy 7% | 52. Equivalent technical term for tepal
g in family Poaceae is :
(1) weEbE (1) Bracteole
(2) e (2) Rachilla
(3) wifeTE (8) Lodicule
(4) =AW (4) Sterile glume
(5) HERE we (5) Question not attempted
HHIFF I e Fued d I gEl | 53. Arrangement of sepals and petals
3R 2l ) s F FHE A 2 with respect to the other members of
(1) fraaa-fa=ms the same whorl is known as
@ Rt (1) Vernation
(2) Venation
(3) e (3) Aestivation
(4) Peeeireadt (4) Phyllotaxy
(6) Hwa 9 (5) Question not attempted
PO . 54. In non-technical terms, the bark of
R- A %3 thenn;ilsnt stem mnsi:::.n l:?f wh?chaérf th?e
e A R o ddme: ElloGring ?
: ollowing ?
(1) 3feed, L [ TA gfrad e grafies (1) Epigdermis, cortex, periderm
T & %rﬁtli primary phloem s
F y rtex,
(2) eiew, e, et o s O
(3) weituw, wTgem, qitad au F (3) Phllgem. xylem, periderm and
(4) Ffred, wITE, JTEEH AY1 o (4) %D;idemis, phloem, xylem and
5) IEEME cortex
©) iy _ (6) Question not attempted
fau o wredt # it 3T (waet) F e | 55, Select the incorrect homology of the
HHETA &1 =49 HITT ; climbing organs (Tendrils) in the
g Org
(1) SHTEE STHTEH — 01 gof given plants :
2) __q_ufgm | (1)  Lathyrus aphaca — whole leaves
(2) Clematis — leaf petiole
(3) S - Wi | ® Smilax-1
ot 1 — leaf apex
(4) ot — ey S | (4) Passiflora — axillary buds
(5) LS (6) Question not attempted
e |
et % 9 5 il i 56. The floret of Poaceae comprises of
(1) e e, e & | (1) only lemma, palea
(2) hae o, GUEC G =} | (2) only lemma, lodicules
(3) hae o, Afern v wifeE @ (3) only lemma, palea, lodicules
(4) %-Tnl?l ﬁ’-‘-l-‘ﬂ e, Eﬂﬁiﬂ@' wd | 4) only lemma, palea, lodicules
and ligule
(5) agaﬁa e Question not attempted
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58.

59.

60.

61.

47
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58.

59.

| 60.

61.

Carpels are not completely closed in:
(1) Magnolia

(2) Nymphaea

(3) Ranunculus

(4) Drimys

(5) Question not attempted

Which of the following statement is

not true for the family Winteraceae ?
(1) Stamens are of most primitive

(2)
(3)
(4)

in

(5) Question not attempted
ANA-grade angiosperms comprises of
(1) Basal angiosperms, Magnolids
and Eudicots

Monocots, Eudicots and Basal
angiosperms

Basal angiosperms only
Eudicots only

Question not attempted

e.
tCyﬁ'l’rples are of most primitive

type.
Well-developed vessels
found in the xylem.

High paleopolyploidy reported
in this famil

are

(2)

(3)
(4)
(5)

Select incorrect statement.

(1) Cells of meristematic tissue
have the capacity to divide.
Cells of meristematic tissue are
living and have dense cytoplasm.
Mitochondria and endoplasmic
reticailum are well-developed
in the cells of meristem.
Intercellular spaces are absent
between meristematic cells.

(5) Question not attempted

ge aquatic species of Ranunculus

ve —

(1) heterophylly in
leaves

(2) development of tendrils

(3) palmately lobed leaves

(4) simple leaves

(5) Question not attempted

(2)
(3)

(4)

submerged




62,

63.

64.

65.

66.
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62.

|
|
|
|
|
| 66.
|
|
|
f
|

14

63.

65.

Cork cells are impervious to water
because of the presence of :

(1) Lignin

(2) Cutin

(3) Suberin

(4) Pectin

(5) Question not attempted

Which of the following statements is

not correct for ‘Quiescent centre’ ?

(1) Concept of quiescent centre is

based on auto-radiographic

studies.

It is situated between root cap

and active meristematic region

of root.

The cells of quiescent centre

are susceptible to irradiations.

(4) It is roughly hemispherical in
shape.

(5) Question not attempted

Lacunar collenchyma is found in :
(1) Stem of Raphanus

(2) Aerial roots of Monstera

(3) Underground roots of Datura
(4) Aenal stem of Lycopersicon
(6) Question not attempted

Which of the following tissues in
plants provides tensile strength
against bending and swaying ?

(1) Parenchyma

(2) Collenchyma

(3) Sclerenchyma

(4) Aerenchyma

(5) Question not attempted

Select the INCORRECT pair from
the following :

(1) Bulliform cells — Isobilateral leaf

(2) Tvloses — Xylem elements

(3) Hydathodes - Submerged
hydrophytes

(4) Lenticels — Periderm

(6) Question not attempted

(2)

(3)
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68.

69.

70.

71.

47

1 i form % 2 Bt
B 31 7 fysios sfa dad 7

(1) fr favsgvas
(2) wa ufeey (gl fersains)
(8) wrge afwew (3 fawwitas)
(4) e ufey (v fnrsdas)
(6) I W

(ERIEEEaE A

(1) et va @it &1 Haseo

(2) o & HIWE

(3) w=&d

(4) @ EIE

(5) Irwia wH

v %1 98 wn, T yurely €18 @

AT % AR H1 8 a1 8 T dews-gn
AT HAUS -G U G & e B o & :

(1) Foefom dawe

(2) HIT Hog

(3) ey oS

(4) WA EUE

(5) TG ¥

Frafefes O 9 #59 @ wym e e &
dfoedad e ?
(1) ®eEgR

(2) =T

(38) #aEeE

(4) Hiz-ga

(5) IAHNE ¥

o # yEm fdes 9fg s i =
w4 B

(1) =fa 3 g
(2) el s ssen
(3) g 3 FHen
(4) S 3 g
(5) HATIE W

67. Which of the following type of

meristem is involved in early
development of embryo ?

(1) Rib meristem

(2) Mass meristem

(3) File meristem

(4) Plate meristem

(5) Question not attempted

The function of velamen is ;

(1) Absorption of water and
minerals

(2) Absorption of water

(3) Respiration

(4) Food storage

(5) Question not attempted

. The type of ovule, where the embryo

sac becomes horse shoe shaped and
the funiculus and micropyle are
close to each other is :

(1) Circinotropous

(2) Amphitropous

(3) Atropous

(4) Anatropous

(5) Question not attempted

. Which of the following part is not

found in the ovule of Santalum
album ?

(1) Micropyle

(2) Integuments

(3) Nucellus

(4) Funicle

(5) Question not attempted

Select the plants having abnormal
secondary growth in the stem.

(1) Bamboo and Yucca

(2) Dracaena and Banana
(3) Bamboo and Banana
(4) Dracaena and Yucca

(5) Question not attempted
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73.
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72.

73.

Funetion of embryonal suspensor in

angiosperms is to

(1) Serve as channel for water.

(2) Push embryo deeper
endosperm.

(3) Release growth hormones.

(4) Transfer of nutrient from

parent sporophyte to young

embryo.

(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-1 List-11
(Embryo-sac) (Example)
A. Monesporie 1. Oenothera

8-nucleate
B. Monosporic
4-nucleate
C. Bisporic
8-nucleate
D. Tetrasporic
8-nucleate
Codes :
A
iv
v
1ii iv
(4) i i
(5) Question not attempted

Ephydrophily occurs in :
(1) Ceratophyllum

(2) Najas

(3) Vallisneria %E
(4) Zostera

(6) Question not attempted

What is the function of the filiform

apparatus ?

(1) Guide the entry of pollen tube

(2) Recognize the suitable pollen
at the stigma

(3) Produce nectar

(4) Stimulate

(5)

into

. Fritillaria

. Polvgonum
(1)

(2)
(3)

B ©
i il
1 |
i

i - H - )

division of
generative cell
Question not attempted
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76.

1.

78.

79.

The name perisperm ig given to the
(1) remnant of the nucellus

(2) peripheral nucellus

(3) disintegrated antipodals

(4) disintegrated synergids

(5) Question not attempted

Which among the following part of
dicotyledonous embryo is mot
derived from embryonal cells ?

(1) Plumule

(2) Cotyledon

(3) Hypocotyl

(4) Apex of the radicle

(5) Question not attempted

Which of the following plant
hormone is associated  with
climacteric respiration ?

(1) Auxin

(2) Cytokinin

(3) Ethylene

(4) Gibberellic acid

(5) Question not attempted

Which one of the following is
popularly associated with the name
of Justus Von Liebig ?

(1) Law of minimum

(2) Law of tolerance

(3) Ecological niche

(4) Speciation

(5) Question not attempted

In angiosperms, the pollen grain is
the first cell of male gametophyte. It
mitotically divides and give rise to
generative and tube cell, the shape
of generative cell is :

(1) Biconvex

(2) Biconcave

(3) Plano-convex

(4) Plano-concave

(5) Question not attempted
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81.

82,

83.

Zone of vegetation separating two
different types of plant communities
18 called

(1) Ecotype (2) Ecad

(3) Ecophene (4) Ecotone

(5) Question not attempted

The individualistic concept
community was established by
(1) Clements

(2) Curtis

(3) Gleason

(4) Callaway

(6) Question not attempted

Which  among the following
statement is not true for k-selected
population / species ?

(1) Survivorship curve is convex.
(2) High fecundity

(3) Large body size

(4) Limited dispersal power

(5) Question not attempted

Plant succession in which existing
community is replaced by an
external condition and not by the
existing organisms is called :

(1) Retrogressive succession

(2) Autogenic succession

(3) Primary succession

(4) Allogenic succession

(5) Question not attempted

If a given gene in a randomly
mating population has 3 alleles a, b
and ¢ in the ratio of 0.5, 0.2 and 0.3
respectively, what is the expected
frequency of genotypes ab and be in
the population at equilibrium ?

(1) 0.3 and 0.06 respectively

(2) 0.2 and 0.18 respectively

(3) 0.2 and 0.12 respectively

(4) 0.04 and 0.09 respectively

(5) Question not attempted

of
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86.

87.

88.

89.

e

What percentage of tree (canopy)
cover is set by Millennium
Ecosystem Assessment (MA), as a
boundary for defining the “forest”

category 7

(1) 30% (2) 40%
(3 50% (4) 60%
(5) Question not attempted

In reference to the Millennium

Ecosystem Assessment (MA) the

Ecosystem Services includes

(1) Goods and =ervic s

(2) Services and cultural services

(3) Goods, services and cultural
services

(4) Services

(5)

services
Question not attempted

Which of the following is a perennial

desert grass ?

(1) Cenchrus biflorus

(2) Aristida adscensionis

(3) Crotalaria burhia

(4) Lasiurus sindicus

(5) Question not attempted

Which of the following is correctly
matched ?

(1) Pyramid of numbers —Inverted

and informational

(in pond ecosystem)
(2) Pyramid of biomass - Upright
(in pond ecosystem)
(3) Pyramid of energy  —Always
inverted

(4) Pyramid of biomass - Upright
(in grassland)

(5) Question not attempted
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91.

92.

93.

| 90. Which of the following is not a pair

of alien plant species of Rajasthan ?
(1)  Prosopis juliflora and Prosopis
1nen
Parthenium  hysterophorus
and Acacia tortilis
Anogeissus  pendula and
Eicchornea  crassipes
Lantana camera

Question not attempted

(2)
(3)

(4) and

(5)

For determining a biodiversity
hotspot it must have at least how
many vascular plant species as
endemic ?

(1) 1500 (2) 2000

(3) 2500 (4) 3000

(5) Question not attempted

What is the full form of UNFCC
with respect to global warming
convention ?
(1) United Nations Framework
Convention on Climate Change
(2) United Nations Federation
Convention on Climate Change
United Nations Framework
Centre on Climate Change
United Nations Federation
Center on Climate Change
(5) Question not attempted

What does ‘EESC’ stand for in

(3)
(4)

context ~to ozone  depleting

compounds ?

(1) Equivalent effective
stratospheric chlorine

(2) Equivalent effective
stratospherie
chlorofluorocarbons

(3) Equivalent energy  saving
compounds

(4) Energy effective stratospheric
compounds

(5) Question not attempted
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(3) =&
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94.

95.

917.

The Rajasthan State Biodiversity
Board was established on :

(1) b5th June, 1992

(2) 29t December, 1993

(3) 2~ March, 2002

(4) 14t September, 2010

(5) Question not attempted

Peroxy Acetyl Nitrate (PAN) which
blocks Hill reaction in plants is
categorized as :

(1) Primary pollutant

(2) Secondary pollutant

(8) Growth retardant

(4) Soil pollutant

(5) Question not attempted

Which of the following statement is

not correct ?

(1) Acid rains increase the pH of soil.

(2) Acd rains corrodes
monuments and statues.

(3) Acid rains are global ecological
problems.

(4) The aquatic and terrestrial

flora and fauna are adversely

affected by acid rains.

(5) Question not attempted

Which of the following technique is

used for removing volatile organic

pollutants from the air ?

(1) Wet collector

(2) Biofilteration

(3) Cyclone collector

(4) Gravity settling chamber

(5) Question not attempted

Which of the following is not an
example of non-auditory effect of
noise pollution ?
(1) Annoyance
(2) Loss of working efficiency
(3) Deafness
(4) Physiological disorders
) Question not attempted
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99. Occupational disease ‘byssinosis’ is

caused by :

(1) Lead particles

(2) Metallie dust

(3) Cotton dust

(4) Fly-ash

(6) Question not attempted

. Which of the following plant is

critically endangered as per TUCN
Red list of threatened species ?

(1) Anogeissus latifolia

(2) Gloriosa superba

(3) Commiphora wightii

(4) Celastrus paniculatus

(5) Question not attempted

. Reserpine, a drug is extracted from :

(1) Papaver somniferum
(2) Rauwolfia serpentina
(3) Colchicum autumnale
(4) Withania somnifera

(5) Question not attempted

. ICAR - Indian Institute of Millet

Research is located at

(1) Karnal

(2) Bikaner

(3) Hyderabad

(4) Ludhiana

(6) Question not attempted

. ‘Triticale’, the first man-made cereal

crop, has been obtained by crossing
wheat with :

(1) Rye

(2) Pearl Millet

(3) Sugarcane

(4) Barley

(5) Question not attempted

. Biological water quality classification

of water is based on saprobic score, if
saprobic score of a water sample is
one, then water quality is :

(1) Unpolluted to very lightly polluted
(2) Lightly polluted

(3) Moderately polluted

(4) Severely polluted

(5) Question not attempted
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107.
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| 110.

bz

Pure line theory that provides the
genetic basis for individual plant
selection, was ﬁmpus-ed by :

1) Thomas Fairchild

2) Patrick Shireff

3) W.L. Johannsen

4) Louis de-Vilmorin

5) Question not attempted
Rubber sap is collected as latex from
rubber tree by the process of
(1) Bagging  (2) Tagging
(3) Sapping (4) Tapping
(5) Question not attempted

The residual dry fibre of sugarcane
after extraction of juice is known as :
(1) Molasses (2) Peat

(3) Bagasse (4) Straw

(5) Question not attempted

A clove represents to which of the
following ?

(1) Terminal bud

(2) Accessory bud

(3) Flower bud

(4) Vegetative bud

(5) Question not attempted

In India for the testing of introduced
plant materials how many regional
stations were established by NBP.GR.?
(1) 5 (2) 8

(3 10 4 12

(5) Question not attempted

Demerit of mass selection is :
(1) It is an extremely simple plant
breeding method.

(2) Selection of plants is based on
the phenotype of individual
plant.

It is highly efficient in improving
Ehenotypic characteristics that

ave high heritability.

The selection cycle is very
short for mass selection.

(5) Question not attempted

M.S. Swaminathan Research
Foundation is situated at :

@)

(4)

1) Bengaluru (2) New Delhi
3) Hyderabad (4) Chennai
5) Question not attempted
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117.

The sticky yellow resin which is
exuded from the female flowers of
Indian hemp plant is commercially
known as :

(1) r

(2) Ganja

(3) Hashish

(4) None of these

(5) Question not attempted

Which is the right sequence of
processing of tea by ‘CTC’ method ?

(1) Withering > fermentation >
rolling > drying > grading
(2) Withering > rolling >
fer]il_ﬂﬂt&t-iﬂn > ing >
ng
(3) gﬁ:haﬁng > rolling >
fermentation > grading >

drying

(4) Withering > drying > grading >
rolling > fermentation

(5) Question not attempted

Vetiver / khas oil is extracted from
which plant part of Vetiveria 7 -

(1) Leaves (2) Flowers

(3) Seeds (4) Roots

(5) Question not attempted

Beta vulgaris, an important source
of sugar, belongs to the family :

(1) Apocynaceae

(2) Chenopodiaceae

(3) Ascelpiadeceae

(4) Cruciferae

(5) Question not attempted

. In cabbage, the edible part is

(1) Floralbud (2) Foliar bud

(3) Apicalbud (4) Axillary bud
(6) Question not attempted

Hing is a gum resin obtained from

of Ferula asafoetida.
(1) Roots and rhizome
(2) Stem
(3) Leaves
(4) Bark

(5) Question not attempted
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118. In the indirect ELISA test the
enzyme linked antibody will attach
to which region ?

(1) The patient antigen T
(2) The wvariable region of the
patient antibody
(3) The constant region of the
patient antibody
(4)
(5)

To the microtiler wall
Question not attempted

In fluorescence microscopy, which of

the following performs the function

of removing all light except the blue

light ?

(1) Exciter filter

(2) Barrier filter

(3) Dichroic mirror

(4) Mercury arc lamp

(5) Question not attempted

Refractive index of cedar oil as an
immersion medium is :

(1) 1.41 (2) 1.51

(3) 1.81 (4) 2.61

(5) Question not attempted

Name the microscopy that produces

a bright image of the specimen

against a dark background.

(1) Phase contrast microscopy

(2) Transmission electron
microscopy

(3) Secanning electron microscopy

(4) Bright field microscopy

(5) Question not attempted

Which of the following factors does

not influence electrophoretic

mobility ?

(1) Molecular weight

(2) Shape of molecule

(3) Size of molecule

(4) Stereochemistry of molecule

(5) Question not attempted
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124,

125.

126.

127.

The greatest resolution in light
microscopy can be obtained with —
(1) Longest wavelength of visible
light used.

An objective with minimum
numerical aperture,

Shortest wavelength of visible
light used.

Shortest wavelength of visible
light used and an objective
with the maximum numerical
aperture.

(5) Question not attempted

Which of the following is an example
of metachromasia ?

(1) Congo red

(2) Picric acid

(3) Toluidine blue

(4) Bismark brown

(6) Question not attempted

Chromatography with
stationary phase is known as
(1) Fluid Chromatography
(2) Absorption Chromatography
(3) Adsorption Chromatography
(4) Solid Chromatography

(6) Question not attempted
SDS-Polyacrylamide gel
electrophoresis is widely used for :
(1) DNA fingerprinting

(2) Sequencing of DNA

(8) Recombinant DNA technology
(4) Qualitative analysis of proteins
(5) Question not attempted

(2)
(3)
(4)

solid

Scanning electron microscopy is
most often used to reveal
(1) Internal structures
(2) Molecular structure
(3) Surface structures
(4) None of these
(6) Question not attempted
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131.

132,

133.

Which among the following 1s
responsible for musty/earthy smell
in recently ploughed field ?

(1) Species of Micromonospora

(2) Species of Micrococcus

(3) Species of Arthrobacter

(4) Species of Ferrobacillus

(5) Question not attempted

The outermost layer of a bacteria which
is composed of both polysaccharides and
amino acids, is called :

(1) Slime layer

(2) Mucous layer

(3) Capsule

(4) Cytoplasmic membrane
(5) Question not attempted
Example of single
cyanobacteria is :

(1) Oscillatoria (2) Dermocarpa
(3) Gloeocapsa (4) Gloeotrichia
(5) Question not attempted

In bacteria the intracellular resting
cells are called :

(1) Buds

(2) Conidia

(3) Endospores

(4) Aplanospores

(5) Question not attempted

Select the incorrect statement :

(1) Actinobacterial group is a high
“G+C" group.

(2) Mycoplasma belongs to the
class Mollicutes.

(3)

(4)

celled

Teichoic acid is absent in gram
positive bacteria.
Peptidoglycan is present In
both gram positive and
negative bacteria.

(5) Question not attempted

Which among the following i1s a
photoheterotroph bacterium ?
(1) Chlorobium (2) Chloroflexus
(3) Thiobacillus (4) Nitrosomonas
(5) Question not attempted
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Consider the statements given
below and select the correct
statements using the codes given
below :

A. Viroids are the naked dsRNA
that cause plant disease.

B. Virusoids are the ssRNA that
require helper viruses to
establish infection.

C. Prions are proteinaceous
infectious particles,

D. Virion is the infective form of a
virus outside a host cell.

Codes :

(1) ABC (20 BCD

(3) ABD (40 ABCD

(5) Question not attempted

The “fried egg” appearance colonies
in special agar medium, denotes the
presence of

(1) Viroids

(2) Archaebacteria

(3) Mycoplasma

(4) Diazotrophs

(5) Question not attempted
Disease causing agent which do not
have nucleic acid is ;

(1) Viroid

(2) Virusoid

(3) Prion

(4) Mycoplasma

(5) Question not attempted

Which of the following are the
bacterial-variants, that lack a cell-
wall ?

(1) Prions

(2) Actinobacteria

(3) Bacteriophage

(4) L-form bacteria

(5) Question not attempted
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138. Select the incorrect statement in

reference to the prochlorophytes :

1) They are oxygenic phototrophs
EE} Thsf;a have both Elnmphyll a
an
EB They lack phycobiling
4) They are eukaryotic
(5) Question not attempted

139. Tolyposporium ehrenbergii causes

which smut of Jowar ?

(1) Grainsmut (2) Loose smut
(3) Longsmut (4) Headsmut
(5) Question not attempted

Name the computer programme
developed in U.S. for late blight of
potato.

(1) TOM-CAST

(2) BLIGHT-CAST

(3) EPIVEN

(4) MYCOS

(5) Question not attempted

Which of the following is a host-
specific toxin ?

(1) Tentoxin

(2) Tabtoxin

(3) Victorin

(4) Phaseolotoxin

(5) Question not attempted

The alternate host of Puccinia graminis
tritici is :

(1) Thallictrum

(2) Berberis

(3) Avena

(4) Thallictrum & Berberis both

(5) Question not attempted

3. Select the incorrect pair of the virus
and its genetic material :

(1) Linear double stranded DNA —
lambda phage
(2) Closed circular double

stranded DNA — cauliflower
mosaic virus

Linear single stranded positive
strand A — Tobacco mosaic

Virus

Circular single stranded DNA
— Reovirus

Question not attempted

(3)

4)

(5)
a
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(Plant Disease)
A Smut of Bajra  i.
B.

A fungus causing Downy mildew is
a member of which order ?

(1) Enrsiphales

(2) Ustaliginales

(3) Perenosporales

(4) Tephrinales

(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-1 List-II
(Pathogen)
Telletia caries
Covered smut of ii. Sclerospora
wheat graminicola
Smut of Jowar 1. Tolvposporium
Downy mildew of iv. hacelo
pear] millet sorghi
Codes:

A

C D
i v
i =3
(3) iii iv i
499 1 iv i1 1
(5) Question not attempted

Spots appearing on leaves due to
death of tissues are called :
(1) Smut (2) Rust
(3) Chlorotic spots (4) Necrotic spots
(5) Question not attempted

Which of the following statement is

not correct for loose smut disease of

wheat ?

(1) It is an externally seed borne
disease.

(2) It can be controlled by treating

(1)
(2)

v

= Bt

infected seeds with carboxin.

{3; It is caused by Ustilago tritici.

(4) Dikaryotic dormant mycelium
of pathogen remains in the
scutellum.

(5) Question not attempted
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Government of India and State
governments on matters related to
“Plant Protection” is :

(1) Department
Protection,
Storage

(2) Directorate of Plant Protection
and Quarantine Strategies

(3) Directorate of Plant Protection,
Quarantine and Storage

(4) Department of Plant
Popularisation, Quarantine and
Storage

(5) Question not attempted

of Plant
Quarantine and

149. The rhizoids in chara are :

(1) Multicellular, uniseriate,
obliquely septate and branched

structures.

(2) Multicellular, uniseriate,
transversely septate and
branched structures.

(3) Unicellular, multiseriate,
aseptate and  unbranched
structures.

(4) Unicellular, uniseriate,
aseptate and branched
structures.

(5) Question not attempted

150. In Meloidogyne, male or female can

be identified at which stage of
development of juveniles ?

(1) First stage juvenile

(2) Second stage juvenile
(3) Third stage juvenile

(4) Fourth stage juvenile
(5) Question not attempted
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